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HEANBNERINZGESE

(B)S# 5% 48 1B (E)S# 65 3A31H
FEAL  HERIEN Ry ERUE (B6I: M)
BEHEB FENW RE B) =2 (AN)-B) =
FEEFICE DI
A
JEEX IR = 3TPN 19, 268, 000 19, 077, 000 191, 000
REFENRA 367, 680, 000| 404, 407, 281|A 36, 727, 281
1N A BARBD A I 0 0 0
e S ST IR N 200, 000 110, 000 90, 000
=4 CAIISNREREN PN 159, 000 17, 648 141, 352
F DMDILA 4, 200, 000 4,069, 874 130, 126
TRENE FERM 4 45 12 K D E A nE 0 0 0
4 FEIEIINAGH () 391, 507, 000] 427, 681, 803| /A 36, 174, 803
H
INCE-S T 287,503, 000| 278, 728, 329 8,774, 671
FEHIM 51, 809, 000 45,006, 141 6, 802, 859
HHE S 37, 632, 000 30, 870, 249 6,761, 751
ALFIE S 70, 000 30, 300 39, 700
Do H 3, 700, 000 3, 546, 900 153, 100
TRENE EERTR S I L 2 E AV KA 0 0 0
FEIEE) X HE Q) 380, 714, 000 358, 181, 919 22, 532, 081
FEILENE SN AR (3=1-2) 10, 793, 000 69, 499, 884|/\ 58, 706, 884
TaR S I K DI
A
it 5 R S5 A B A A 2, 000, 000 1, 227, 000 773, 000
it 3 2 {5 2 B < N 0 0 0
A E AN 0 0 0
[ 18 & PE 7T HI A 0 0 0
Z DO E 2 L HUA 0 0 0
L e R I AGT (4) 2, 000, 000 1, 227, 000 773, 000
H
B A NG e AR 3, 300, 000 3, 300, 000 0
[{5] 7 P U 3 HA 5, 967, 000 5, 282, 030 684, 970
[ G PERRAD - FEFE 0 0 0
Ty AT A U —ZAEBOIRFE X 0 0 0
Z DO AR 2 K D X 0 0 0
it B B 55 3 HA R (5) 9, 267, 000 8, 582, 030 684, 970
it 53¢ B 5 4 N S 72 (6=4-5) A 7,267,000[A 7,355,030 88, 030
ﬁg@@%@ﬁ;émi
A
FHEE & S5 A& o & A i A 0 0 0
FWIE A AN 0 0 0
S-S LIRS SRS IEON 0 0 0
& A REZRTEEIA 0 0 0
FENLE PERUIR I 0 0 0
Z DM OIEENT L DHILA 0 0 0
- ﬁ%@@@%@ﬂﬂ%ﬁ) 0 0 0
EHEE G AL TR N 0 0 0
EWIEr 43 0 0 0
B A MRS 0 0 0
FENLEPE S 3, 000, 000 56, 752, 688|/\ 53, 752, 688
Z DM OTEENC L 5 X 0 0 0
Z O OIS X HEE(8) 3, 000, 000 56, 752, 688|/\ 53, 752, 688
Z O OTEENE SN AFEH (9=7-8) A 3,000,000]A 56, 752, 688 53, 752, 638
T = (10) 1, 366, 000 526, 000
A 840, 000
YHIE I 2R A 5T (11=3+6+9-10) 0 5,392, 166| /A 5,392, 166
AR S ik E (12) 0 42,897, 223| /A 42,897, 223
PR N E e m (11+12) 0 48, 289, 389| /A 48, 289, 389

() TAigg S H A840, 000 1%, AfEE & H280, 000, 32 3 H1400, 000, 2 % H 160, 00012
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